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The following table shows the number of people (in lakhs) living in five different cities A-E
along with the ratio of number of people in three different age groups I, IT and IIT among them.
People are classified in three age groups as Group-I: 0 to less than 21 years; Group- IT: 21 to less
than 41 years nd Group-IIl: 41 years and above. Based on the data in the table, answer the
questions that follow,

City- wise Number of People
Ratio of Number of people in Age-groups
City Number of people (in lakhs)
I -1
A 144 1232
B 16 r33
C 192 1713
D 128 3:1:4
E 12 gt 0 |

Sub questions
Question Number : 1 Question Id : 34212315762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of people of age group-I of city A and D together to the number
of people of age group-I of city C and E together?

56 53

2.1

4.3:2

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212315763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Number of people in age group Il of city D is % more than that of age group II of city
B.

1. 7%

t‘ilof
i

b

2
63%

el

4. 6%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212315764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The difference between the total number of people in age group II of city A and B together and
age group III of city C and E together is

1. 2 lakhs
2.1.2 lakhs
3. 2.4 lakhs

4. 0.8 lakhs

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212315765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Number of people of age group I is more than 4 lakhs in exactly city/cities.

|. one
2. two
3. three

4. four
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212315766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For city C, if the number of people who will turn 21 years of age next year is 16000; the number
of new born will be 32000, and the number of people in age group III will remain the same, then
what will be the new ratio of people in different age groups?

1.31:31:60
2.31:32:60
3.31:32:36

4.21 :23:35
Options:
1.1
2.2
3.3
4.4

Question Id : 34212315761 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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A 114 1:3:1
B 16 2323
C 192 1-1:2
D 128 314
E 1 1:3:1

Sub questions

Question Number : 1 Question Id : 34212315762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEX A R D DI U T FAICThR 31 - a7l - 13 ] bl T T IR € 3R E ] e
311 o ) b ST Y ST fhiefi g 2

4.3:2
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212315763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 6%
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212315764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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111 S QI 1 o G b il bt iR g

1.2¢d9

3.24 19

4.0.8 ¢lig
Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212315765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I IHAM B YSIAG_ SR/ E H 4 dRa Y 3P 6
1. U
2.ql
3.dH
4. 9R

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212315766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR € (o7, T el a4 2.1 T8 1 17 o i+ et vl bl TR 16000 8, il ol e
32000 BITH 4T 3T T 1 & AT bl T Gt 1 1t <o, fafvrer 3img ol b i bt
T ST 1 B 2

1.31:31:60
2.31 +32 260
330532056

4. 2122825
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123619
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212315767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following tool is used to create pre and post-session polls to gauge students learning
from each session?

1. Mentimeter
2. Github

3. Plotagon

4. Labster

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212315767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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T U BT TN T el 2

| Hfewiey

2. filegd
3. T

4. cfefcX
Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212315768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The style that involves a student's tendency to take more time to respond on the accuracy of
answers is known as:

1. Impulsive style
2. Surface style
3. Reflective style

4. Manipulative style

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212315768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 3D el
. Tefe! et
3, fele et
1. OGS el
Options :
1.1
2.2

3.3
4.4

Question Number : 8 Question Id : 34212315769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“If a student gets a part time job in an architect's office and applies what was learnt in geometry
class to help the architect analyze a spatial problem that is quite different from any problem the
student encountered in geometry class™ is an example of learning?

. Near transfer
2. Forward-reaching transfer
3. Low- road transfer

4, Far transfer
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212315769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. e 30

2. ST IR
3. Fg - sjo
4. QR

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212315770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1 LISTII
(ICT Tools) (Example)
A |Learning Management System (LMS)| L | Zoom
B. | Virtual Reality II. |Canvas
C. | Video Conferencing III. | Audacity
D. |Podcast IV. | Virbela

Choose the correct answer from the options given below:

1. A-1IV, B-1, C-II, D-1II

3

CA-L B-III, C-1IV, D-II

sl

. A-II, B-1IV, C-1, D-I11

4. A-IIL B-11, C-I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212315770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-1, C-II, D-III
2. A-1, B-III, C-1IV, D-11
3. AL B-1V, C-1, D-III

4. A-III, B-1I, C-1, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212315771 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of positive-transfer of learning?
1. Mastering algebra helps in understanding calculus.
2. Learning to play piano makes it more difficult to learn the violin.
3. Knowing how to drive a car makes it harder to learn how to ride a bicycle.
4. Learning to speak French hinders learning Spanish.

Options :
1.1
2.2
3.3
4.4

:No



Question Number : 10 Question Id : 34212315771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212315772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A quantitative research would be mainly concerned with

. measurement
causality
context

. replication

Onwp

Choose the correct answer from the options given below:

1. A. B and C Only

[

. A, B and D Only
3.B, C and D Only

4. A. C and D Only

Options :
1.1
2.2
3.3
4.4



Question Number : 11 Question Id : 34212315772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fedt aRATITES MY BT WIHR Td: FUfaRad I fe=d gime

A, HIUA
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c. g4

D. Ufdpid
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" Hdd A, B3RD
3. Hdd B, C 3ARD
4. hdd A, C 3ARD

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212315773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The criterion of ‘credibility” in qualitative research 1s equivalent to which of the following criteria
in quantitative research?

1. external validity
2. internal validity
3. objectivity

4. reliability

Options :
1.1
2.2



3.3
4.4

Question Number : 12 Question Id : 34212315773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1, ST 4T
2. 3R deal
3. TR
4. oyt

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212315774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify correct statements about content analysis.

A. The main vse of content analysis has been in the examination of printed texts and
documents.

B. Content analysis lacks transparency.
C. Coding is crucial in content analysis.
D. It is almost impossible to devise coding manuals that do not entail some interpretation on the

part of coders.
Choose the correct answer from the options given below:
I.A,Band C Only
2.B, Cand D Only

3.A, Cand D Only

4. A, Band D Only

Options :



1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212315774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212315775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The numerator and denominator degrees of freedom are used in which of the following test-
statistic in hypothesis testing?

L.t
2E

3.£

4, ;13 (chi square)

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212315775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yo eHIAD Wie H FgfaRad g Wie - TRl H 3 3R g A WeAdl @l dliedl
&1 I ol ST 2

L.t
2.F

3.

4, yF (chi square)

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sharpness of the peak of a statistical distribution is represented by

1. Kurtosis

(i)

. Skewness
3. Mean

4. Median
Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fop i eI faer o e ol ceurel bt Fmferfed forep grT wefia fopar ot 2

1. debdl HIAT
2. dYH]
3. HY

4, AT

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212315777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A symbol that represents an idea or thought in non-verbal communication is referrred to as

1. Hidden symbol

2. Effective symbol
3. Abstract symbol
4. Ideational symbol

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212315777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212315778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In any conventional media, the point of content production and the point of consumption involve

. Temporal separation

2. Imaginary hurdles

3. Free marketing

4. Technological over- dependence

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212315778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What do people basically want to extract from the communicated message?

1. Compulsions

2. Meaning

3. Synergy

4. Behavioural pattern

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. Sreard
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3. ggfhar
4. FdgRIH® UfdHH

Options:
1.1
2.2
3.3
4.4

[

Question Number : 19 Question Id : 34212315780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Making way for technologies of automation is transformation of modern society

1. Cyber-nation
2. Mechanical

3. Political

4. Artificial
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212315780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212315781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the early stages of development, broadcast media were marked by

1. Positive communication

(i)

. Negative communication
3. One-way communication
4. Two-way communication

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212315781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212315782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If a person travels in a car at a sped of 36 kimv/hour, then he will reach his destination on time. He

covers half the journey in (4/5 ) time. What should be his speed for the remaining part of the
journey so that he reaches his destination on time?

L. 80 knmv'hour
2. 75 km/hour
3. 90 km/hour
4. 85 km/hour

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212315782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 80 fobHt/ ¢
275 fobHlt/ ¢
3.90 fopelt/ ¢
4,85 fHl /¢

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212315783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Let L and M be the sum and average of four consecutive odd mumbers (a, b. ¢ and d) respectively,

and, P and Q be the sum and average of three consecutive even numbers (x, y and z) respectively.
If M= Q-6 and P=L-16, then M=

1.32
2.34
3.36

4.30
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212315783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I b TR AT fa FI3M (a, b, ¢ 3R o) T AT R A AL L 3R Mg 7T i
SHRTC GH TS (x, v 3R z) BT A 3R R HA: P 3R Q B
Ti¢ M= Q-6 3R P=L-16, I M=

1.32

2.34
3.36

4.30

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212315784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Three positive numbers are in the ratio 2 : 3 : 4. If the sum of their squares is 2349, then the
numbers respectively are

1. 14, 21 and 28
2. 18,27 and 36
3.16,24 and 32

4. 12,18 and 24

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212315784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i ST ST 2+ 3+ 4 o ST H 1 e 3T vl b AT 2349 8, o SRETd 6 il

1. 14.21 3R 28
2.18,27 3R 36
3.16. 24 3R 32

412,18 3R 24

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212315785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding scheme the word ‘SCHOLAR is coded as “TEKSQGY". In the same coding
scheme, the word *GREEN’ will be coded as

1. ITGGP
2. HTHIS
3.EPCGP
4, JUHHQ

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212315785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o] o TS H *SCHOLAR WG 1 “TEKSQGY' & U H fied b1 T §1 381 e
TioT H, *GREEN” Y16 ! frg 0 | i i o 2

1. ITGGP
2. HTHIS
3. EPCGP
4, JUHHQ

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212315786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In what time will a sum of money double itself at the rate of 12.5% per annum simple interest?

1. 10 years
2. 8 years
3. 6 years
4. 12 years

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212315786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qIftch WL SIS B 12.5% Bl G Y Dlg SR oo T 1 g7IHI gl <o
L 109y

2.8y
3604
4. 127N

Options:
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212315787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



*Abhay’s mind is a cave, deep, dark and full of bats." Which of the following is correct about the
above statement?

L. It contains analogical argument.
2. It is a valid and sound argument.
3. It contains analogy.

4, Tt 1s a valid but not a sound argument.

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212315787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212315788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following terms in order of decreasing in intension?

A. Baseball player
B. Athlete

C. Fielder

D. Ball plavyer

Choose the correct answer from the options given below:

G, DADB

(o

B, B C

(5]

CA, DB

4.B,D, A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212315788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. 94T Raare!
B. TYdiic
C. i
D. did - fgarat

I feu U 9 el § U T 3R &1 994 DIfSIU:

1.C,D,A, B

(]

B, DO

(5]

CA DB
4.B,D, A, C

Options :
1.1



2.2
3.3
4.4

Question Number : 28 Question Id : 34212315789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I have read that one aspirin taken everyday reduces the risk of heart attack. Why not take two a
day and double the protection." Which informal fallacy is committed in the above statement?

. Fallacy of composition
2. Begging the question
3. Hasty generalisation

4. Slippery slope

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212315789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. Gefa ey
2. YT Y

3. AN TETIA

4. TOue gad e

Options :
1.1
2.2
3.3
4.4



Question Number : 29 Question Id : 34212315790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. Some beverages are not liquids.

B. Some beverages are liquids.

C. Some non-liquids are not non-beverages.
D. Some beverages are non-liquids.

Choose the correct answer from the options given below:

1. Aand B Only

-2

.B. C and D Only
3. B and C Oaly

4. A, C and D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212315790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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|.had A 3R B

HddA B, C AR D

3.HAdB 3R C

4. Hdd A, C 3R D

Options :
1.1
2.2
3.3
4.4

(o

Question Number : 30 Question Id : 34212315791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to classical Indian School of Logic (Nyaya) the statement “fire is cold because it is a
substance™ is fallacious because:

L. It has a non-inferentially contradicted middle term.

2. The middle term has an impossible locus.

3. The middle term instead of proving its presence in major term proves its absence.

4. The major term proves Its presence

Options :
1.1
2.2
3.3
4.4



Question Number : 30 Question Id : 34212315791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212315792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In computer Networking, MAC addresses are unique to each device. Which of the following is
the meaning of the term MAC?

1. Medium Access Card
2. Media Address Command
3. Modem Addressing Card

4. Media Access Control

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212315792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2, HifsT vgu wHis
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Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following “Digital India” themes is incorrectly matched with its purpose?
1. Spoken Tutorial- Learn various free and open-source software all by oneself
2. FOSSEE- Reduce dependency on proprietary software in Educational Institutions

3. e-Kalpa- Create Digital-learning environment for design

4. e-ShodhSindhi- Spread education in Embedded systems and Robotics

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212315794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to ICT, which of the following statements is true?

. Global Positioning Systems (GPSs) in cars send signals to satellite which then work out
where they are and send this data back to the car.

2. HTTP stands for HyperText Transfer policy.
3. RAM stands for Rapid Access Menory.

4. Geographic Information System (GIS) is a computer based tool for mapping and analysing
things that exist and events that happen on earth.

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212315794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212315795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Based on the following, which of the following statements is true.
A CD contains 12 music tracks which are of lengths (in minute):
3,7,4,3,5,6,4,5,4,7, 8, 8 and each minute of music requires 12 MB of storage.

1. 512 MB of memory is used for the 12 music tracks.
2. | GB of memory is used for the 12 music tracks.
3. 768 MB of memory is used for the 12 music tracks.

4. If the tracks are to be stored in MP3 format, then each music track will be reduced in size by
90%. The storage that the 12 tracks would require is 69.12 MB.

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212315795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212315796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-1I with List-IT

LISTI LISTII
{Computer Components) {Description)
A JALU [. |Immediate access storage
B. | Control Unit II. |Carries out arithmetical and logical calculations
C. |Pen Drive III. | Directs the input and output flow in the CPU
D. | Main Memory IV. | Secondary/ offline storage

Choose the correct answer from the options given below:
1. A-II, B-TIL, C-IV, D-I
2. A-IL, B-1, C-1V, D-III
3. A-L, B-III, C-IV, D-II
4. A-IV, B-11II. C-I1, D-I

Options :
1.1



2.2
3.3
4.4

Question Number : 35 Question Id : 34212315796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 91y & 11 B HTH Bl
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1. A-IL, B-III, C-IV, D-I

[

. A-IL B-1, C-1IV, D-III
3. A-I, B-II, C-1IV, D-II

4. A-1V, B-1II, C-I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212315797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



International Solar Alliance (ISA) is the alliance of countries, most of which lie.
1. Between North Pole ad Tropic of cancer
2. Between Tropic of Capricorn and South Pole

3. At equator
4. Between Tropic of cancer and Tropic of capricorn

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212315797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SARIPTT GR Gl (SZTHY) U G BT 16eilS 3, o1 & sifdapi
1. JORl 4 91 b 31 o T YT ¢

2. T 3T d1 <f&uft 4d & Ay [Yd g |
3. YO 3@ R [ g
4. Hp 1 a1 PR 341 & 7 YT 8

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212315798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Biomass

. 1s a carbon cycle neutral fuel

. has significantly higher calorific value then coal

. can be converted in solid, liquid and gaseous fuels
.can be converted into Producer Gas

. can not be obtained from energy crops

MmoOnwpe

Choose the correct answer from the options given below:

1. A. Band C Only

(o

. A, C and D Only
3. B.D and E Only
4. A, B and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212315798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SN
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Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212315799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hydrochlorofluorocarbons (HCFCs), replacement for chlorofluorocarbons (CFCs), have to be
phased out completely by the year

1. 2025
2.2030
3.2035
4.2040

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212315799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TARTKIRIBIH (HUH!) B! 68 98 7 g eldRITRIpIed (T 9 0 ) gRI i
e iR i T g 2

1.2025

2.2030
3.2035

4.2040
Options:
1.1
2.2
3.3



4.4

Question Number : 39 Question Id : 34212315800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Softening of hard water is done by

A. Aeration

B. Boiling

C. Lime soda
D. Ozonation

E. Ion exchange

Choose the correct answer from the options given below:

1. A.Band C Only

(]

.B. C and E Only

(]

. B, C and D Only
4. C,D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212315800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 40 Question Id : 34212315801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Due to over fertilization of lakes, quality of fish produced

1. does not change

b3

. Impaires

(el

. Impoves
4. first improves then impaires

Options :
1.1
2.2
3.3
4.4



Question Number : 40 Question Id : 34212315801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 41 Question Id : 34212315802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Knowledge Commission suggested that the proposed national universities should
not have

. Affiliated colleges
2. Public funding
3. Linkage with industries

4. Teaching departments

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212315802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following was the principal of Bengal National College, established in 19067

1. Motilal Ghosh
2. Aurobindo Ghosh
3. Satish Chandra Mukharjee

4. Bipin Chandra Paul

Options:
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212315804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Most recommendations of the Calcutta University Commission were influened by

1. The Hunter Commission
2. Wood's Dispatch
3. The Haldane Commission

4. The Indian Universities Commission
Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212315804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212315805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following institutions were to play a role in shaping the National System of
Education at higher level under the National Education Policy (1986)?

A. UNESCO
B. UNDP
C.UGC

D. AICTE

E. ICAR

Choose the correct answer from the options given below:

I.A.Band C Only
2.B, Cand D Only
3.A,Cand DOnly

4.C,Dand E Only

Options :
1.1
2.2
3.3
4.4



Question Number : 44 Question Id : 34212315805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. $4dC.DIARE

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212315806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The education imparted at Nalanda University was both religious and

1. Irreligious

-2

. Entertaining
3. Secular

4. Business- oriented
Options :
1.1
2.2



3.3
4.4

Question Number : 45 Question Id : 34212315806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

icial fayfdeed J ved e 4 3R & PR & Al
. 3feTTHEG

2. HARS®
3. Uy fFRUg
4. ARG

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123620
Question Shuffling Allowed : No

Question Id : 34212315807 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension



Ethical living is concerned primarily with the interpersonal dimension of our behavior. How do
we treat one another individvally and in groups---and increasingly, other species and the
environment? The key here is that morality brings us info contact with others and asks us to
consider the quality of that contact. We start asking ourselves: ‘Is that the way I should treat
someone else?” ‘Ts that the way someone else should treat me?” Because we have the ability to be
critical of our interpersonal behavior and our interaction with animals, we have the ability to
develop codes and norms to guide that behavior and interaction. Those moral norms and codes, in
addition to a set of virtuous character traits, are what we mean when we talk about ethics.

Ethics poses questions about how we ought to act in relationships and how we should live with
one another. Ethics asks us to consider whether our actions are right or wrong. It also asks us how
those character traits that help humans flourish (such as integrity, honest, faithfulness and
compassion) play out in everyday living. Ethical norms and principles have developed over time
and across cultures, as rational people of goodwill consider human relationships and how human
beings act when they are at their best.

This everyday ethical reflection must occur before we can effectively confront the larger moral
questions. A person who wants to take moral leadership in global issues must take special
responsibility for what is going on inside his or her own self—inside his or her own
consciousness—lest the act of leadership create more harm than good. All of us can be leaders for
good; the choice Is ours.

Sub questions

Question Number : 46 Question Id : 34212315808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ethical living is based on

our own virtuous attributes

our behaviour towards other species
our behaviour towards environment
. material satisfaction

O0wp

Choose the correct answer from the options given below:

1. B and C Only

[

. A and B Only
3. A.Band C Only

4. A,B,Cand D

Options :
1.1
2.2



3.3
4.4

Question Number : 47 Question Id : 34212315809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Identify the virtuous character traits which help an individual to flourish in life.
A. Integrity
B. Psychophancy
C. Honesty

D. Compassion
E. Faithfulness

Choose the correct answer from the options given below:
1. A, B, Cand D Only
2. A, Cand D Only
3.A,B,CDandE
4. A, C,D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212315810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is incorrect?
1. Culture is static
2. All cultures have developed their ethical norms and principles over time
3. Rational people of goodwill exist in all cultures
4. Culture is dynamic

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 34212315811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For a good leader it is imperative to have

. resources

[

. daily reflections on his conduct
3. higher educational background
4. belief in spirituality

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212315812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quality of our interactions in human relationships is gauged by

1. economic status

o]

. soclal status

e

. Interpersonal behaviour
4. educational background

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315807 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix



Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 34212315808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4.A.B.C3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212315809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. AB.CDIRE

4. $A0A. C.DIRE

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212315810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4.4

Question Number : 49 Question Id : 34212315811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 50 Question Id : 34212315812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Commerce



SectionId : 342123209

Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123621
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212315813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In WTO terminology, subsidies in general are identified by “boxes”. Domestic support measure
considered to distort production and trade, which is defined in Article 6 of the Agriculture
Agreement falls into which box?

1. Amber Box
2. Jumbo Box
3. Greeenfield Box

4. Black Box
Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212315813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 52 Question Id : 34212315814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WTO in its 8™ Ministerial conference adopted a decision allowing members to waive the
provisions of Article II (most favored-National Treatment) of the GATS to allow the granting of
preferential treatment to services and service supplies to which countries?

1. Adjacent Countries
2. Non-Nuclear Countries
3. Least-Developed Countries

4. SAARC Countries

Options:
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212315814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212315815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The tool that International Development Association (IDA) uses to address the impact of severe
natural disasters, public health emergencies by providing extra finances is known as

|. Emergency Response Fund (ERF)
2. Long term Lending system
3. Crisis Response Window (CRW)

4. Monetary Fund

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212315815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212315816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A statistical statement in International business that shows at a point the value of financial assets
of residents of an economy that are claims on non-residents or are gold bullion held as reserve
assets and the liabilities of residents of an economy to non-residents is known as

. Currency Composition Table
2. Special Purpose Entities (SPEs)

3. Cross Border Flows

4. The Internation Investment Position (IIP)

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212315816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212315817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If selling price per unit is ¥56.00. Variable cost per unit is ¥32.00 and total fixed cost is 260,000,
what is the number of units that used to be sold in order to achieve a profit of 84,0007

1. 6000 units
2. 8400 units
3. 5000 units

4. 6500 units

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212315817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 6000 TSI
2. 8400 IHTAI
3. 5000 31l
4. 6500 SISl

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212315818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The current ratio of a company is 2:1. Which one the following suggestions would improve the
current ratio?

1. Purchase of stock for cash
2. Cash collection from debtors
3. Pay a current liability

4. Purchase of fixed assets

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212315818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212315819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A company forfeits 100 shares of 210 each on which Z 300 had been received. 60 shares are

reissued at T9 per share. Which one of the following amount is to be transferred to Capital
Reserve Account?

1. 2200
2.3180
3.3120

4. 360
Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212315819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.3200

2.3180
3.2120

4. 260
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is known as backbone of auditing?

1. Verification of assets

b3

. Internal check

(]

. Vouching

4. Internal audit
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212315821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a basic property of Indifference curve?

1. Indifference curve slope downwards to right

-2

. Indifference curve of imperfect substitutes are convex to the origin

LS

. Indifference curve either intersect or are tangent to one another
4. Upper indifference curves indicate a higher level of satisfaction

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212315821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212315822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is the correct value of Income Elasticity of Petrol consumption from
the following information?

The Government announces a 10 per cent dearness allowance to its employees. As a result,
average monthly salary of Government employees increases from 220,000 to ¥ 22,000. Following
the pay hike, monthly petrol consumption of government employees increased from 150 litres per
month to 165 litres per month:

1.0.5

4.0.1

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212315822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2.1
3.2

4.0.1
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212315823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is a correct assumption of Law of Diminishing Returns to a variable
Input ?

1. Labour and Capital are the only variable inputs
2. The units of Labour and Capital are homogeneous
3. The state and technology is not given

4, Tnput prices are given

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212315823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212315824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT true about the relationship between Average Cost (AC) and
Marginal Cost (MC)?

I. When MC is falling, the rate of fall in MC is greater than that of AC

2. When MC increases, AC also increase but at a lower rate. However, there is a range of
output where MC begins to increase while AC continue to decrease

3. When AC 1s constant, AC=MC

4. MC curve intersects AC curve at 1ts mimmum
Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212315824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212315825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The price of a company's share is 80 and the value of growth opportunities is 20. If the
company's capitalisation rate is 15%, how much is the EPS?

1.320
2.2
343

4.39

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212315825 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.320
2:312
3,43

4.39
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212315826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT the assumption of Baumol's model of cash management?

I. The firm is unable to forecast its cash needs with certainty

2. The opportunity cost of holding cash is known

3. The firm will incur the same transaction cost whenever it converts securities to cash
4. The firm's cash payments occur uniformly over a period of time

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212315826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212315827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Compute the after-tax cost of capital of a company in case a perpetual bond (face value is T100)

is sold as well as redeemed at par having coupon rate of interest being 7% and corporate tax rate
is 30%.

1.2.1%
2.4.9%
3. 7%

4.10%

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212315827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.2.1%
2.4.9%
3.7%
4. 10%
Options :
1.1
2.2

3.3
4.4

Question Number : 66 Question Id : 34212315828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following theory of capital structure discusses Arbitrage Process?
. Traditional Approach
2. Modigliani and Miller (MM) Approach
3. Net Operating Income (NOI) Approach
4. Net Income (NI) Approach

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212315828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212315829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If two regression lines are : 8x-101+66=0 and 40x-18y=214, then ¥ & Y are respectively

1.13, 14

]

.16, 15
3.14,13

4. 13,17

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212315829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.13,14

[g]

.18, 15
3.14,13

4.13,17

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212315830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person applies for a loan of 21,00,000. The bank informed him that over the years, it had
received 2920 loan applications per year and the probability of approval was, on an average 0.85.
The applicant wants to know the average number of loans approved per year by the bank. What
can be that number?

1.1920
2.3250
3. 1000
4. 2482

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212315830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.1920

2.3250
3. 1000
4. 2482

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212315831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is standard deviation of first 7 (1 to 7) natural numbers?

4.6
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212315831 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.4

I3
L]

4.6

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212315832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For test hypothesis Hy: py <y and Hy : py > py, the critical region (Z) at o« = 0.10 and n > 30
will be

1.Z% 19
2.72>1.96
3.2>1.645

4. Z<-1.645
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212315832 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.Z%1.96
2.2>196
3.2>1.645
4.2<-1.645

Options :

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 34212315833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following sources of power of the supervisor is NOT true for the subordinates
to comply?

1. Reward
2. Coercive
3. Expert

4. Means-ends-control

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212315833 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT good for bargainers while bargaining with employees?

1. Do not hurry

2. Build a reputation for being fair but not firm

3. Strive to keep some flexibility in your position

4. Respect the importance of face saving for the other party

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315834 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212315835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following selection tests answers the question “Does this test measure what it's
supposed to measure”?

. Content validity
2. Criterion validity
3. Contruct validity

4. Test validity

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212315835 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212315836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following non-functional rewards does NOT fall under job design category?

1. Compliment of work progress
2, Flexible hours

3. Participation in decisions

4. Flexible breaks
Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212315836 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212315837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which one of the following ratios, the share capital of RRBs is prescribed for the Central
Government, State Government and Sponsoring bank?

1. 50:30:20
2. 50:35:15
3. 60:20:20
4. 50:15:35

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212315837 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.50:30:20
2. 50:35:15
3.60:20:20

4. 50:15:35
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is Value Added Service of EXIM Bank?
1. Line of Credit
2. Pre-shipment Credit
3. Buyers Credit
4. Export Marketing Services

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315838 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 77 Question Id : 34212315839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

RBI permitted the issue of commercial papers within the framework of its guidelines. Which one
of the following committee recommended these guidelines?

1. Verma Committee
2. Padmnabhan Committee
3. Kalia Committee

4. Vaghul Committee

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212315839 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212315840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Narsimhan Committee 1991 recommended the reforms with respect to the banking sector.
These reforms are also known as:

. First generation reforms
2. Second generation reforms
3. Financial sector reforms

4, Third generation reforms

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212315840 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following refers to the need on the part of the customer that gets satisfied by the
service?

1. Service Benefits
2. Service Expectations

3. Service Offer

4. Service Level

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315841 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212315842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following cost-value-price trio, a manufacturer would like to seek?

1. Value = Price = Costs
2. Price = Value = Costs
3. Price = Costs > Value

4. Price = Value > Costs
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212315842 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT a marketing principle ?

1. Focus on the customer

-2

. Markets are homogeneous

LS

. Customers do not buy products
4. Marketing is too important to leave to the marketing department

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315843 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT an issue (to be tackled) of conceptual component of a CRM
programme?

. Choosing the technology

2. Setting out the objectives in clear terms

3. Processing all customer requests coming in through multiple channels

4. Putting customers first

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315844 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212315845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Where there is an unconditional contract for the sale of specific goods in a deliverable state, the
property (ownership) in goods passes to the buyer when

L. the contract is made
2. the payment is made
3. the goods are delivered

4. the goods are dispatched

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212315845 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212315846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following cases, undue influence is presumed :

|. Creditor and debtor

[

. Landlord and tenant

[

. Husband and Wife

4, Parent and Child
Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212315846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212315847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following item is included in the definition of the term “Goods™ as per Sales of
Goods Act, 19307

L. Purchase of lottery tickets
2. The decree of Court of Law
3. Actionable claims

4, Immovable Property

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212315847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212315848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The maximum number of Partners in a Limited Liability Partnership can be :

. Seven
2. Fifty
3. Hundred

4. No Limit
Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212315848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212315849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under the Income-Tax-Act, 1961, the value of perquisite in respect of movable assets (other than
the assets already specified in Rule 3 of the Income tax Rules, 1962) owned by the employer is
calculated at the rate of :

L. 10% per annum of the actual cost

e

. 20% per annum of the actual cost
3. 10% per month of the actual cost

4. 20% per month of the actual cost

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212315849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212315850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How much per cent of income by way of interest received on compensation or on enhanced

compensation is allowed as deduction while computing income under the head Income from
Other Sources under the Income-tax Act, 19617

1.25%
2. 50%
3. 75%

4. 100%
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212315850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.25%
2.50%
3.75%

4. 100%

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212315851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

X Ltd. incurred a capital expenditure of Z5,00,000 for the purpose of promoting family planning
amongst its employees during the assessment year 2024-25. How much deduetion 1n respect of
such expenditure can be claimed by X Ltd. during the assessment year 2024-25, while computing
income under the head Profits and Gains of Business or Profession?

1. 35,00,000
2. 32,50,000
3.31,00,000

4. 350,000

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212315851 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 35,00,000
2. 32,50,000
3.%1,00,000

4. 350,000

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212315852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following condition is NOT required to be satisfied by an individual for the purpose
of claiming unilateral relief under section 91(1) of the Income-tax Act, 1961, in a previous year?

. He must be resident in India in that previous year
2. His total income exceeds 210,00,000 during that previous year

3. He has earned an income during that previous year from another country and that income
has accrued or arose outside India

4. He has paid income-tax in that country on the income earned in that country and no Double
Taxation Avoidance Agreement (DTAA) exists between India and that country

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212315852 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212315853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In international trade, factoring is widely used in short-term transactions as a continuous
arrangement. Arrange the steps of export factoring operations in sequence -

A. The export factor transfers the invoice to the import factor, who, in return, assumes credit
risk and undertakes administration of receivable,

B. The export factor pays cash in advance to the exporter against receivables until the payment
is received from the importer,

C. The importer and exporter enter into a sales contract and agree on the terms of sale.
D. The import factor presents invoice to importer, take payment and pays to the export factor.
E. The exporter ships the goods to the importer and submits the invoice to the export factor.

Choose the correct answer from the options given below:

l.E,A,B,D,C
2.E,B,A,D,C
3.CR.ED A

4.CEBAD

Options :



1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212315853 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I.LE,AB,D.C

LEBADC
3.C,B,E,.D.A

1.CEBAD

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212315854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of Activity Based Costing (ABC) in proper sequence -

A. Staff Training and Review Follow up

B. Identify Main Activities

C. Process specification

D. Identify Non-value adding Activity and cost pools

E. Selection of Activity Cost Drivers and Tracing of Costs with objects

Choose the correct answer from the options given below:

1.C,B.D.E.A
2B, C,D,EA
3.D,B,CAE
4.E,D,B,C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212315854 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.CB, D EA

2B,C,D.EA
3.D,B,C,AE

4.E,D,B,C.A



Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212315855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following theories of Profit in order of time when these were propounded from oldest
to latest -

A. Hawley's Risk Theory of profit

B. Walker's Theory of Profit: Profit as Rent of Ability
C. Clerk's Dynamic Theory of Profit

D. Schumpeter's Innovation Theory of Profit

E. Knight's Theory of Profit

Choose the correct answer from the options given below:

1LAC. D RE
2.B,C,A,D,E
3.E,B,C,D,A

4B,CLAED

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212315855 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.A,CD,BE
2.B.C,A.D.E
3EBCEBA

4.B,CLAE.D

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212315856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of decision making process in application of Economics in Business
decision making from starting to end -

A. Selection and Implementation of the Decision
B. Inventing, developing possible Course of Action
C. Collection and Analysis of Relevant Data

D. Identifying Business Related Issues

E. Determining and defining objective

Choose the correct answer from the options given below:

.D,C,E,B.A
2D B EA
3.B,C,D,EA

4.E,D,C,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212315856 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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.D,C.E.B.A

2.C,D,B,E,A
3.B,C,D,E,A

4.E.DCBA

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212315857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following sequentially with respect to operating cycle of a manufacturing firm -

A. Payables Deferral Period

B. Finished Goods Conversion Period
C. Raw Material Conversion Period

D. Receivables Conversion Period

E. Work-in-progress Conversion Period

Choose the correct answer from the options given below:
I.A,D,C,E,B
2 CEB. DA
3.B;D.AEC
. DB, E A€

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212315857 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212315858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of Sampling Design in a form of questions that are to be answered in securing a
sample -

A. What s the appropriate sampling method?
B. What are the parameters of interest?

C. What size sample is needed?

D. What is the target population?

E. What is the sampling frame?

Choose the correct answer from the options given below:

1.LE,D,B,A,C
2B EACD
3.C.B.AED

4D,B,EAC

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212315858 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I.LE,D,B.,A,C
2.B,E,AC;D
3.C.BAED

4.D,B,E,A,C

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212315859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the given Prefatory Information sub - modules into a sequence to form a Long
Management Report -

A. Title Page

B. Executive Summary

C. Table of contents

D. Letter of transmittal

E. Authorization statement

Choose the correct answer from the options given below:

1.B,C.DAE
2.E,D,B,C,A
3.D,AE,B,C

4 C,A,D,E,B

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212315859 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LB C,D.AE
2.E,D:B, €. A
3.D.A,E,B.C

4.C,A,D,E,B

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212315860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following content theories of work motivation in the increasing order of their
development -

A. Herzberg-motivation and hygiene factors
B. Alderfer ERG Needs

C. Maslow-Hierarchy of Needs

D. Scientific Management

E. Human Relations

Choose the correct answer from the options given below:

I.D,C,E.A.B
2.D,E,C,A,B
3.B,CADE

4.D,E,A,C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212315860 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



B R & 3] - il &1 3 faehfd g & 3UR W RIg %7 1 Hafyd
GilELS

A. TOI-HHIRT 3R W3 & 9o
B. UGS U S 3Rl (ERG) Bl 3AaRTdal
C. UG- 3{TaRaddl ol Y]

D. 431 TeltH

E. A9 Ydy
el feT 70 faed) # | Wt SR 1 I DifC

I.D,C,E,A B

2.D,E,C,A,B
3B.EADE

4.D,EA,C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212315861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following banks in an increasing order of their year of formation-

A. State Bank of India

B. Imperial Bank of India
C. Reserve Bank of India
D. Regional Rural Banks

E. Small Finance Bank

Choose the correct answer from the options given below:
LEBRCHB &
2.E;D.AB.C
3B, ;A D E
4.C.BADE

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212315861 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212315862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Financial Institution in the increasing order of their date of establishment-

A.NABARD
B. EXIM Bank
.1

D. SIDBI
E.ECGC

Choose the correct answer from the options given below:
I.A,B,C,D,E
2.C.B.ADE
3.C,ABED
4. ECB.AD

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212315862 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2.C,B,A,D.E
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Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212315863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the given steps involved in designing a channel system in the logical order -

A. Evaluating the distribution environment

B. Evaluating the short-listed alternative designs and selecting the one that suits the firm best
C. Matching the channel design to customer needs/characteristics

D. Choosing the channe| intensity and number of tiers

E. Evaluating competitors channel design

Choose the correct answer from the options given below:

1.A,C.E.B,D
aCA BB
3GEDAB

4.C.AEB.D



Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212315863 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.A,C.E.8.D

2CAED B
sCEDAB
4.CAEB.D

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212315864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the given component tasks to be handled in positioning in the logical sequence -

A. Developing the value proposition

B. Analysing competitors' positioning: Is there a gap somewhere?

C. Communicating the value proposition to target consumers

D. Deciding the locus in consumers' mind: Where to lodge the product/brand?
E. Ensuring the infrastructure/competitive advantage for delivering the premise

Choose the correct answer from the options given below:
1.D,B,AE,C
2. D.B.E.AC
3B, D AE N
4.B,D.C,AE

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212315864 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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.DBAEC

2.D,B,EA,C
3.B,D,AE,C

4.B,D,C,AE

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212315865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following steps for the Incorporation of a new LLP (Limited Liability Partnership) in
the correct order -

A. Drafting of LLP Agreement
B. Deciding the partners and designated partners

C. Electronic filing of documents with ROC & issuing of Certificate of Incorporation by ROC
(Registrar of Companies)

D. Checking the availability of Name
E. Obtaining DPIN & Digital Signature Certificate

Choose the correct answer from the options given below:
LB, E.D;A,C
G A B, D.E
3JABCDE
4.E.A CD.B

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212315865 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1B, E,DAC

LOCABRDE
B EDE
4EACDB

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212315866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the correct sequence to be followed for the following while computing income under the
head Capital Gains?

A. Deduction of indexed cost of acquisition

B. Determination of full value of consideration

C. Determination whether the asset is a capital asset or not

D. Determination whether the transaction is regarded as transfer or not

E. Exemption under section S4EC in respect of investment in the long-term specified asset

Choose the correct answer from the options given below:

.LB.ACED
2.E,A,D,C,B
3.D,B,C,AE

4.C,D,B,AE

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212315866 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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.B,A,C,E,D

2.E,AD,C.B
3.BD,B,CAE

4.C,D,B,AE

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212315867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the correct sequence to be followed for the following transactions undertaken by an
individual while computing his gross total income as per the Income-tax Act, 19617

A. Investment in own public provident fund

B. Investment in one residential house in India for exemption from capital gains
C. Interest on capital borrowed for purchasing a self-occupied house property
D. Tax on employment

E. Payment of Medical insurance premium on his own life

Choose the correct answer from the options given below:

.C.B.D.EA
2.D,C,B,AE
3.E;A;D;B.C

4B,C,E.AD

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212315867 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



feh el ekl gIR1 Tl U FmfeifRad HouagRl o foru Sfaaiy Sam, 1961 B S8R 35!
Gl 3T I TTUH] B G UIeH fh S el TR0 bl W b I 62

A, W0 P ol Hiaw Y ¢ Faw

B. Juil 14 U ¢ o fU YRa ¥ U iy iR | fFam

¢. % -Fegrei e et & g @ fow IR o 7S 0ol R &
D. TSR W%

E. 9 o Sl el fafcea s wifiam &1 yaH

4 fqu e famed © 9 51 SR 1 999 PifC
I.C,B.D.E.A
2.D,C,B.A.E
3. EA DR C

4.B,C,E,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212315868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following factors constitute the Economic Environment of a country?

A. Financial System

B. Socio-cultural environment
C. Economic Policies

D. Educational environment
E. Structural Equilibrium

Choose the correct answer from the options given below:
1.A,B & Conly
2.A,.C&E only
3.B.D & E only
4.C,D&Eonly

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212315868 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFgiRad H U & U SRS Uh 6 & ATAS grdraRul &1 T8 Hd 67

E. WA X
1< 3T T faded! # | W5t IR BT T4 DIfeC:
1.Hdd A, B 3R C
2. $ad A, C 3R E
3.$ddB, D 3RE
4.%ad C, D 3R E



Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212315869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the instruments of qualitative Credit Control Methods in India's
Monetary Policy?

A. Cash Reserve Ratio

B. Consumer Credit Regulation
C. Altering Margin Requirements
D. Statutory Liquidity Ratio

E. Differential Rate of Interest

Choose the correct answer from the options given below:

I.A,B&D only
2.B,C &E only
3.C,D&E only

4.D,E &Aonly

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212315869 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Frafeiad o U S 9 HRd i Hifd H qorerd St g faferat & e 6

A. TG ARI& 3ard

B. SUHIA IR fafma

C. RIS i Sasuddn
D. Hifaftd Tdhal 3FuTd

E. faHed oI &X

A fau 7T fadeal # § gt S & 994 DI
1. Hdc A, B 3R D
2. $Hda B, C 3NE
340 C, D HRE
4. $ITA.D 3RE

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212315870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are cases of Funds Flow?

A. Payment of trade creditors by sale of Land

B. Cash collection from debtors

C. Purchase of Furniture by issue of bills payable
D. Payment of long term loan by cash

E. Payment of bills payable by cash

Choose the correct answer from the options given below:

1.A.D & E only

(]

.B,C & D only

5]

A, C & D only

4.B & E only



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212315870 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad # 9 o1 - It ffd garg of fRufaai g 2

A. Y[H f9h! gRT AUR dHGRI BT YITdH
B. ¢GRI Y H s Y

C. ed dioich] o H gRT AR 1 HY
D. 6 S gRT Sraafe 01 BT YITdH

E. AP S gRI <d silolb] DI YITdH

14 f3u w1v faseul # 9 98t TR &1 994 DI -
. Hadd A, D 3R E
2. Hdd B, C AR D

3. HAdd A, C AR D
4. HAd B 3R E

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212315871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true in case of Internal Reconstruction?

A. The existing company is liquidated
B. No new company 1s formed

C. There is certain reduction of capital and sometime liabilities are also reduced
D. The new company issues fresh capital
E. It is done as per section 66 of the Companies Act, 2013

Choose the correct answer from the options given below:
1.A,D &Eonly
2.A.C&E only
3.B,C & E only
4.B,C&Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212315871 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3R gAHATT & Ty o (afaRad § 9 &9 - 91 9d 82

A. A Ul BT IRYATYH fhar Sirdl g

B. ®I3 s ®hUHl Mdd Aol di il g

C. Goil & fdud &H! gidl § 3R $s aR agart 41 $4 gidl ¢
D. 4 ST, 92 Goil 9 Sl §

E. I8 HUAT 3HTUfTH, 2013 B 4R 66 B YR Ha1 A1 ¢

== fdu g fameul & | 981 SR 319U DIV
I.HddA. D 3RE
2. HdA A, C AR E
3. ®ad B, C 3RE
4. Had B, C 3R D



Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212315872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about the equilibrium of the Industry in long run under perfect
competition?

A. The long-run supply and demand for the product of the industry should be in equilibrium

B. All firms in the industry should be in long run equilibrium by equating price with long-run
marginal cost (P=LMC)

C. There should be tendency for the new firms to enter the industry, or for the existing firms to
leave it

D. The firms are earning zero economic profits with price being equal to long-run minimum
average cost (P=min. LAC)

E. The firms would not have adjusted their size of plants when there is long-run equilibrium
(P=LMC)

Choose the correct answer from the options given below:
I.A,B&Conly
2.C,D&Eonly
3.A.B&Donly

4.B,C&Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212315872 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



it it & e dheffafy H 3em & Uga & I A Fefaid A e 9w ¢ 2

A, JEI & TS b fert Efeifafei amgfel ok wi Wi o gl gy

B, FET &1 Gt A Sreifafeies TR TTd § HIHd Bl SR S (P=LMC) Sraiaiid
e | gl gy

C. 5 Wl o FeIT H Yo o] A1 ioleT WAl o I9 B3 @l Ygfd gl =gy

D. ¥ 31 e Y 3ifofdl % g1 B, ST hiFdt crufafeid <7 SMi¥d AATd (P=min.
LAC) & &R gl

E. E%WW (P=LMC) 1l AT o 3T GOl & AR &I THRING Tl [l

i< fu T faweut § ¥ 951 SR o1 I Difoe -
1. A, B AR C
2. %aa C, D R E
3. %dt A, B ARD
4. %4t B, C HRD

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212315873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following are the key aspects/ determinants for an equilibrium under
monopolistic competition?

A. The mobility of factors of production
B. The Price

C. Imperfect knowledge about the market
D. The Nature of the Product

E. The amount of advertising outlay

Choose the correct answer from the options given below:

1.B,D & E only
2.A.B& Conly
3.B.,C & D only

4.C,D&Eonly

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212315873 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ui 1Re Haifiiar & Sfcid ffeied o 4 & 9 g ugel/ HuRe § 2

A. 3G & TeHl S e
B. DIHd

C. 99 & IR H 3ol g4

D. 3d1G Bl Upid

E. fa3i19+ uiveqg &1 i

i feT U fame # O Wot S8 &1 997 DI .
| HAAB, D AR E
2. HATA, B AR C
3. %90 B, C R D
4. B9 C, D ARE

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212315874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



For the purpose of taking Capital Budgeting Decisions in respect of a company in India,
following are taken into consideration in computing cash flows in the terminal year of the project:

A. Tax loss on short-term capital gains
B. Tax loss on short-term capital loss

C. Release of net working capital

D. Tax saving on short-term capital loss
E. Tax saving on short-term capital gains

Choose the correct answer from the options given below:

LA, C&Donly
2.B,C & E only
3.C&E only

4.B&E only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212315874 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YR H el T o G 8 Gl ol 0 o o Wi, TiRaia o sffcd av &
RS YaTgl @1 0] B3 o fert FHgfeid R faaR [ o g

A, eTate] Ol Ty TR B
B. 3fcqrafy goil gif R &R g
. Faa drdeiie Yo o i
D, HeTate] guil g1 | Y §d
E. 3fcaf Yol a1 R B g9

Al f&U U fadedl & & o ST 1 94 g :
L $dd A, C 3R D

). BB, C IRE
3. %ddl C ARE
4. $qq B INE

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212315875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the assumptions of Gordon's dividend-capitalization model?

A. No taxes

B. Cost of capital is less than the growth rate
C. No internal financing

D. Constant retention

E. Constant cost of capital

Choose the correct answer from the options given below:
I.A,B&Donly
2.B,C & E only
JL.A.C&Donly
4.A,D &E only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212315875 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS AHIY-YollhR 0T AlSd ol (afeiad H ¥ & -l gdyRumi g 2

A. PIg PR ol
B. Joil & d7Td, Ifc XU A G
C. Dig MR fadia= el
D. f&R S[qYR
E. R gSit arTd
e feu e fameal & & It IR &1 999 DT -
I.hdd A, B3R D
2. HAd B, C ARE
3. Hdd A, C 3R D

4. Had A, D 3IRE



Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212315876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Data preparation needs to ensure the accuracy of the data and their conversion from raw form to
reduced and classified forms for analysis. It includes which of the following:

A. Coding

B. Data Entry
C. Editing

D. Steming
E. Aliasing

Choose the correct answer from the options given below:
[.A& Conly
2.B&Donly
3.A,B&Conly

4.C,D &E only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212315876 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



31T qURT H g GHYd R b1 HaRuddl gl g b S1er o aurefan 31 3R g faweiwu g
39 RS W Y 7Y AR i U H IRl gl T | 390 foru Hgferaa 4 9
HH Y e i

A BIRET
B. SIeT ¢l
C. Yued
D. W1
E. T2

A & e fadedt # 4 We1 ST P T PIfC
1. Hdd AR C
2. HIAB R D
3. %dd A, B AR C

4. $dAC.DIARE

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212315877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An exploratory study is finished when the researcher has achieved the following:

A. Established the major dimensions of the research task

B. Defined a set of subsidiary investigative questions that can be used as guides to a detailed
research design

C. Developed several hypotheses about possible causes of a management dilemma

D. Learned that certain other hypothesis are such remote possibilities that they can be safely
ignored in any subsequent study

E. Concluded additional research is needed and it is feasible

Choose the correct answer from the options given below:
I.A&Bonly
2.A,B&Conly
3.A,B,C&Donly
4.B.C.D&Eonly

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212315877 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U SFIUTET SR 8 Q1 Id ¢ o eidell gRY Hafidd W i fu i ¢

A, 14 BT & T ] 61 R BT

B. 3 YgIUS Wid - Tdr A1 Uyl o e @l uRuiftd 1 forg forgd Ty feomsa
fef e Afela & R R A o 91w

C. Y& B1 gfdel o G4 HRUT o o ¥ Tl TR ed 1l &l Wy el

D. BF 4 TROHIH BT Tl oI forft §HIGTE S5 A g1 95 M & et a1
U o o0 BT o Il ¢

E. H{qRad T BT SMaRghal W TR 641 90 U 95 S55H T o1y

A & e fadedt # 4 We1 ST P T PIfC
1. Hdd A 3R B
2. HaAA,BIHRC
3.%dd A, B, C HRD
4. BB, C,D IR E

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212315878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following antecedent conditions explain intergroup conflict?

A. Personal differences

B. Competition for resources
C. Role incompatibility

D. Task independence

E. Jurisdictional ambiguity

Choose the correct answer from the options given below:

1.A. B & C Only

[

.A.B.D & E only

LS

A, C & D Only
4.B,D & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212315878 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frgfaiad § ¥ i gd o -fRufaal 9 of: 99g g &1 AR gl 82
A. 90D AR
B. T¢I & foiu Ufdqege
C. Y{HDH1 B SRR
D. B WdFdl
E. BRI SRy

A fog 7 fameul & 9 98t ST 31 991 DIV :
1.hdd A, B3R C
2. Had A, B, D 3R E
3.hac A, C 3R D
4, Ha B, D AR E




Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212315879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the characteristics of a Leader?

A. Focuses on systems and structure
B. Eve on the horizon

C. Asks how and when

D. Does things right

E. Originates

Choose the correct answer from the options given below:

1.A.B & D Only

b3

.B & E Only

[

.B, C & D Only
4. A,B,D & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212315879 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Aqdcd B dTdl Afdd & HA&0rs Torg 2

A. 98 UUITEl 3R WA R &H $fod Fdl ©
B. 3Ud] & feffasl R e g

C.dg $U AR He Uy Pdl o

D. 38 Aol &l 31 &1 J Hidl g

E. 98 YHRH B dTdl (3gHDd ) BIdT 8

== fdu g fameul & | 981 IR BT 994 DIV
1.Hdd A, B3R D

$HIdB 3R E

BB, C 3R D

4. PHAd A, B, D 3RE

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 118 Question Id : 34212315880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following subsidiaries are fully owned by the Reserve Bank of India ?

A. National Housing Bank

B. National Bank for Agriculture and Rural Development

C. The Deposit Insurance and Credit Guarantee Corporation of India
D. Bhartiya Reserve Bank Note Mudran Private Limited

E. Securities Trading Corporation of India

Choose the correct answer from the options given below:

[.A,C&DOnly
2.A.D &E Only
3.B.D & E Only

4.B,C & E Only



Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212315880 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e # 9 & - 1 i sergat WRdlg Rofd § & quf @@ /¢ 2

A. TP 1A d5

B. VT HfY 3R JfivT fapry §%

C. YR ey si1 3R §rg wiayfd
D. YR Rofd d e ggu yrgde fifies
E. YR Ufdyfd TR 7

A feu e fasedl § 4 Wet IR ST 99 Difeie -
|.Hdd A, C AR D

2. HAd A, D IRE
3. ®Hdd B, D 3R E
4. HAAB, C IR E

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212315881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are primary functions of Commercial Banks?

A. Accepting Deposits

B. Agency Service

C. Discounting Trade Bills
D. Financing Foreign Trade
E. General Utility Service

Choose the correct answer from the options given below:

l1.A,C & Eonly

I3

.A.B & D only
3.B.C & E only
4. A, C &D only

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212315881 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G RId § T ®F 9 aifoicds daf & Udiis i g 2
A. S WIHR Bl
B. Uil / 3{TH&HR0T Hal
C. IR dioih| BT dETHR0l

D. f[ac=i SR &1 o<
E. YA 3990 Hdl

== fdu g fameul & | 981 SR 319U DIV
1.Pdd A, C 3R E

HATA, B3R D

BB, C 3R E

4. HIAA, C 3R D

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212315882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are social factors influencing consumer buying behavior?

A. Culture

B. Reference groups
C. Social Class

D. Roles assumed

E. Sub-culture

Choose the correct answer from the options given below:
1.A,B & C Only
2.B & D Only
3.A,C&DOnly
4.B,D & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212315882 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



JUHIT & HY dgR Bl GHITdd B dlcl TS HR® HElRad U dH I
A Tld

B. GeH Wifg

C. g @il

D. Bicd AT

E. 37 - Ypfd

=t feT e foseat & 9 WE) IR T T4 DI -

| Had A, BIRC

). $Had B 3ARD

3. BddA, CIRD

4, &9 B, D ARE

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212315883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The rate of diffusion of any innovation depends upon the following factors:

A. The relative advantage of the innovation over previous solutions

B. The compatibility of the innovation with existing values and norms
C. A lack of complexity in using the innovation

D. The divisibility of the innovation facilitating low-risk trial

E. The communicability of the advantages of the innovation

Choose the correct answer from the options given below:

1.A, C & E Only
2.A,B,C & Eonly
3.4, B, G D &E

4.B & D Only



Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212315883 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fordl FaY o faTR0 P &R HRIRId HRHI R R &

A. TUSd QHIYH $I Je1 H Ta=Y ST QIU1Ed oy

B. f990M Tedi 3R UfaaMl G 1709 &I 0l

C. =N & W & % H goedl (Sicdl) bl 3Uid

D. FaFY &1 fauTod] fors Baaey 2 Sy gad faaR gidr ¢
E. JdN 9 §H dId a1y & 9% T YR 63 D1 AT

1= f3T v faseal # & T8 S &1 9949 DifeIT:
|.hdd A, C 3R E
2. Hdd A, B, C 3R E

3.A,B.C.D3RE

4. $dAB 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212315884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are true about Digital Signature under Information Technology (IT) Act,
20007

A. ADigital Signature is an Electronic Signature

B. Digital Signatures are accepted Globally

C. Each vendor has to make his own standard to regulate Digital Signatures
D. The term Electronic Signature is broader than Digital Signature

E. A Digital Signature is less secure than Electronic Signature

Choose the correct answer from the options given below:

[.A,D&E Only
2.A.B&D Only
3.C.B&E Ouly

4.B,C &D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212315884 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. SfoTea gReR U@ Soide o gRfie @

B. f3fored gHiIaR] Pl fayeR  WipR 6 9 g

C. Wl fdshell 1 f3fored el &1 FUfd & 5 @i & e AR X gl §
D. Uldee FRIR Weg, fafofed SReR § e §

E. U f3ed GHiIeR, oideiie geler] O 6H QRfta ¢

e feu U faded § 9 el SR 1 99 i -
1.5 A, D 3R E
2. %a A, B IR D
3. %4 C,B AR E
4. 5d0B,CARD

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212315885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Import of service means:

A. The Supplier of service is located in India

B. The Supplier of service is located outside India
C. The Recipient of service is located in India

D. The Recipient of service is located outside India
E. The place of Supply of service is in India

Choose the correct answer from the options given below:

1.A. B & E Ounly

(o

. A, D & E Only

5]

.B.D & E Only
4.B, C & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212315885 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Har3fl & Ard &1 drad

A. Y91 ®1 3Mafdddl YRd § fud g

B. Tdl &1 3Yfddrdl YRd & g (A g
C. 9l o arell YRd 1 [Ryd ©
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E. a1 1 Y[ B BT W[ URAH g

== fdu g fameul & | 981 SR 319U DIV
1.hdd A, B HRE

HAd A, D 3RE

. HddB, D RE

4. BHIAB. C AR E
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212315886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following methods have been prescribed by the Central Board of Direct Taxes
(CBDT) for computation of Arm's Length Price required to compute income arising from an
International transaction under Chapter X of the Income-tax Act, 19617

A. Transactional Net Margin Method

B. Uncomparable Controlled Price Method
C. Profit Split Method

D. Resale Price Method

E. Cost Minus Method

Choose the correct answer from the options given below:
I.B.D & E Ounly
2.A,B&DOnly
3.C.D & E Only
4.A,C&DOnly

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212315886 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. gl {1 3uid fafd
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D, UHidd 9 fafd
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4. %dd A, C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212315887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Under section 206C of the Income-tax Act, 1961, a seller is supposed to collect income tax from
the buyer in respect of sale of the following goods:

A. Motor Vehicle of the value between 37,00,000 - 9,00,000
B. Alcoholic liquor for human consumption

C. Electronic items of the value between 710,00,000 - 215,00,000
D. Timber obtained under a forest lease
E. Minerals, being coal or lignite or iron ore

Choose the correct answer from the options given below:

I.A,C&EOnly
2.B,D & E Only
3.A& COnly

4.B & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212315887 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212315888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List=l with List-ll

LISTI
Theories of LISTII
International Qutline of Theory
Investment

| FDI occurs largely in oligopalistic industries rather than in

A. | Eclectic Theory industries operating under near perfect competition

Capital as an investment will move from countries where it is

B Appropriability [l |abundant to countries where It is scarce because the refurns on

| Theory investment opportunities are higher where capital is limited
c margffgction il The firm should be able to keep the benefits resulting from its
: Thgow * |innovation & Research for its exclusive use

The framework follows three tiers-ownership, location and

D Theory of Capital v Internalization, assuming that companies are not likely to follow
" [Movements * [through the FDI. if they can get the service or product internally

and at lower costs

Choose the correct answer from the options given below:
[LA-IV, B-1, C-1II, D-TI
2.A-1, B-1I, C-TI,D-IV
3.A-IL B-1V, C-1I,D-I
4. A-1V, B-III, C-1L D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212315888 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-1IV, B-1, C-1II, D-II

2. A-1, B-1II, C-1II D-IV
3. A-II1I, B-1IV, C-1I, D-1

4. A-1IV, B-III, C-1,D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212315889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-l with List-ll

LISTI LISTII
Trade Agreement Types Description
Two or more parties give right of entry to certain
A. |Early Harvest Scheme (EHS) | [products by reducing duties on an agreed number in
taniif ines

B Comprehensive Economic

1 In which two or more countries agree to provide
- [Partnership Agreement (CEFA) |

trade terms, tariff concession to partner country/ies

A Precursor of CECA, thus a step towards enhanced

C. [Preferential Trade Agreement | IIl. engagement and confidence building

Looks into the regulatory aspect of trade and
D. |Free Trade Agreement IV |encompasses an agreement on customs,
competition & IPR

Choose the correct answer from the options given below:

1. A-TII, B- IV, C- I, D-II
2.A-1IV,B-1IL, C-1I, D-1I
3.A-LB-IIL C-II, D-IV

4. A-1I, B- 1, C- IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212315889 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-III. B-IV. C- 1, D-II

(o

CA-1V, B-TI1, C- 11, D-1
3.A-1,B-1II, C- 11, D-IV
4. A-II. B- 1, C- 1V, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212315890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IMatch the List=1 with List-ll

LISTI LISTIHI
Valuation of Human Resources approach Developed by
A |Historical Cost approach |. |Rensis Likert and Eric G Flamholtz
B. |Replacement Cost approach Il. |Hekimian and Jones
C. | Opportunity Cost approach lIl. | David Watson
D. |Standard Cost approach V. [Brummet Flamholtz and Pyle

Choose the correct answer from the options given below:

1. A-1,B-1I, C- I, D-IV
2.A-TIIB-1IV,C- 1, D-II
3. A-1.B-IV, C-1I. D-III

4. A-IV,B-L C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212315890 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-1, B-II, C-III, D-IV
2.A-1IL B-1V, C-1, D-TI
3.A-1, B-IV, C- 11, D-III

4. A-1V,B- 1, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212315891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-1 with List-ll

LISTI LISTII

Ind AS Related
A |Ind AS-12 |. | Leases
B. |Ind AS-17 II. | Borrowing Costs
C. |Ind AS-19 I1l. | Employee Benefits
D. |Ind AS-23 V. | Income Taxes

Choose the correct answer from the options given below:

1. A-1V, B- I, C-III, D-II
2. A-1II, B-II, C-IV, D-I
3. A-1. B-IV, C- 111, D-II

4. A-1IV, B-1II, C- 1, D-1I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212315891 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B- I, C-III, D-II
2. A-1II, B-1I, C-1V, D-1

3.A-1 B-IV, C- 111, D-1I
4. A-1IV, B-III, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212315892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-l with List-ll

LISTI LISTII
Pricing Strategies Their Explanation
A. | Skimming Price Policy | [Where the nature of the products are non-storable
B. |Penetration Price Policy | Il [Where close substitutes of a new product are not available
C. [Peak Load Pricing Policy| IIl. |Exporting goods at a price lower than the domestic price
D. [Dumping Pricing Policy | IV. | Substitutes of new products are available

Choose the correct answer from the options given below:

LA-IIL B-IL C-LD-IV
2. A- IV, B-II, C-II, D-1
3.A-1B-1I, C-II, D-IV

4. A-11, B-IV, C-[, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212315892 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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l. A-TII, B-II, C- L, D-IV

ola|w|s

2. A-1V, B-1II, C-1I, D-1
3.A-1, B-1II, C-II, D-IV
4. A-1I, B-1IV, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212315893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-1 with List-ll

LISTI LISTII
Concept Meaning
A | Systematic risk |. | Compensation for time
B. |Beta Il. |Increase in corporate tax rate
C. |Risk-free rate . | Sensitivity coefficient
D |Unsystematic risk| V. | Competitor enters the market

Choose the correct answer from the options given below:

1. A-1, B-IV, C-1II, D-1I
2. A-1V, B-1, C-II, D-III
3. A-IILL B-II. C-IV, D-I

4. A-11, B-1II, C-1, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212315893 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A- 1. B-IV, C-1II, D-II
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2.A-1V, B-1, C-11, D-IlI
3. A-IIL, B-1I, C-1IV, D-1
4. A-11, B-111, C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212315894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List=l with List-ll

LISTI LISTII
Concept Meaning
— Rate that equates the investment outlay with the present
A, |Eromahiky e . value of cash inflow recelved after one period
B Accounting Rate of I Compound average annual rate that is calculated with a
" [Return (ARR) * |reinvestment rate different than the project's IRR
c Internal Rate of Return I Rate that is computed by dividing the average profit after
" [(IRR) - |1ax with the average investment

D Modified Internal Rate of v Ratio of the present value of cash inflows, at the required
" [Return (MIRR) | rate of retum, to the initial cash outflow of the investment

Choose the correct answer from the options given below:

. A-IV,B-II, C-I, D-II
2. A-I, B-IV, C-I1, D-III
3.A-1I B-[, C-III, D-IV
4. A-MI, B-I, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212315894 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. A-IV,B-II, C-I, D-II
2. A-I, B-IV, C-I1, D-III
3.A-1I B-[, C-III, D-IV
4. A-MI, B-I, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212315895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-1 with List-ll

LISTI LISTII
Shapes Type of Distribution
A |. | Platykurtic Distribution
B. Il. | Positively Skewed
C /’-\ IIl. | Negatively Skewed
D. V. | Leptokurtic Distribution

Choose the correct answer from the options given below:

1. A-III, B-IV, C-I, D-II

(]

.A-IL B-1IV, C-1, D-IIT

L]

A-IIL B-1, C-1V, D-1I

4. A-IV, B-1, C-III. D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212315895 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-III, B-IV, C-I, D-II

[

. A-II, B-1IV, C-1, D-I1I

5]

CA-IIL B-1, C-1IV, D-1I

4. A-IV, B-1, C-III, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212315896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-1 with List-ll

LISTI LISTII
Personality Traits Descriptive Characteristics
A | Conscientiousness |. | Qutgoing
B. |Agreeableness Il. | Canng
C. |Extraversion lll. | Creative
0. | Openness to expernience| V. | Depenable

Choose the correct answer from the options given below:

1. A-III, B-1I, C-1, D-IV
2. A-IV, B-11, C-II1, D-I
3. A-IV, B-11, C-I, D-ITI

4. A-1, B-11, C-I11, D-1IV
Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212315896 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-III, B-II, C-I, D-IV
2. A-1IV, B-11, C-III, D-1
3. A-IV, B-1I, C-1, D-1II
4. A-1, B-11, C-III, D-1V

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212315897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-l with List-ll

LISTI LISTII
Macro Level Organizational Stressors Examples
Administrative Policies and Strategies| | | Crowded work area
B. | Organizational Structure and Design | Il. |Merit Pay Plans
C. | Organizational Processes Ill. |No opportunity for advancement
D. |Working Conditions IV. |Lack of participation in decisions

Choose the correct answer from the options given below:

1. A-II, B-III, C-1IV, D-I
2. A1 B-II, C-1IV, D-1
3. A-IL B-IV, C-1II, D-I

4. A-IV. B-I, C-IL, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212315897 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IL. B-III, C-IV, D-I
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2. A-III, B-11, C-1V, D-1
3. A-II, B-1V, C-11I, D-1
4. A-1V, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212315898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fMatch the List-1 with List-ll

LISTI LISTII
Institutions Date of establishment
A | National Housing Bank | |01-07-1964
B. |Industrial Development Bank of India [l. |01-07-1948
C. | Small Industrial Development Bank of India| 1ll. |02-04-1990
D. | Industrial Finance Caorporation of India V. | 09-07-1988

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV
2. A-1II, B-1, C-1IV, D-1I
3. A-I. B-IV, C-II1. D-1I

4. A-IV, B-1, C-III, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212315898 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV

olo|w|s

2. A-1II, B-1, C-1V, D-1I
3. A-1, B-IV, C-III, D-I
4. A-IV, B-1, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212315899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fMatch the List-1 with List-ll

LISTI LISTII
Product Description
A. | Dinosaur |. | Products that are beautiful but unsaleable
B. |Flamingo Il. |Products that are blind to the future
C. | Ostrich IIl. | Products that are source of a profitable future
D. |Pearl IV. | Products that have missed their niche

Choose the correct answer from the options given below:

1. A-IV, B-1I, C-1, D-III
2. A-11, B-1, C-1IV, D-1II
3. A-I, B-II, C-IV, D-III

4. A-IV, B-1, C-1I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212315899 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-II, C-I, D-III

[E]

.A-II, B-1, C-1IV, D-III
3. A-1, B-II, C-IV, D-III
4. A-IV, B-1, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212315900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List=l with List-ll

LISTI
. LISTII
Negotiable . i
fiirrini Their Explanation
A Inchoate | When negotiable instrument is delivered conditionally or for a
* [Instrument " |specific purpose as a collateral security or for safe custody only
B Ambiguous I When the name of the drawer or the payee or both are fake in a
* |Instrument ~ | bill
B |k i When the instrument owing to its faulty drafting may be interpreted
: * | either as a promissory note or bill of exchange
i ; An incomplete instrument in some respect, where a person signs &
D. {Fictitous Bil . delivers to another a blank or incomplete paper

Chaoose the correct answer from the options given below:

I. A-IL B-III, C-1, D-IV
2. AL B-IL G-IV, D-I
3. A-IV,B-III, C-I, D-II

4. A-L B-II, CII1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212315900 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. A-IL, B-IIL, C-1, D-IV
2. AL B-II, C-IV, D-1I
3. A-IV,B-IIL C-I, D-II

4. A-L B-II, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212315901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-l with List-ll

Classification IE:IfSJolods as per the LISTII
Sales of Goods Act, 1932 Their Definition
The goods which are to be manufactured or
A. | Specific Goods |. | produced or acquired by the seller after making the
contract of sale
B |Ascertained Goods I The goods, which are not identified and agreed upon

at the time of formation of contract of sale

The goods, which are identified and agreed upon

G- Unmspertalent Goods M subsequent to the formation of contract of sale

The goods, which are identified and agreed upon at
17, (e o L the time of making the contract of sale

Choose the correct answer from the options given below:

I. A-IV, B-IIL, C-II, D-I
2. AL BII CIL D-IV
3. A-1V, B-II, C-III, D-I

4. A-L, B-III, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212315901 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-IIL, C-II, D-I
2. A-L B-II, C-III, D-IV
3. A-IV, B-II, C-III, D-1

4. A-L, B-III, C-1I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212315902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List=l with List-ll

LIST! LISTII
Purpose for which deduction is given under the Income-tax Act, 1961 | Relevant Section
A [Contribution to Agnipath Scheme | [Section 80TTB
B Profits and gains from business of collecting and processing of bio- I Section
~ |degradable waste - |80GGB
- — Section
C. [Interest on deposits in case of senior citizens Il 80CCH
D. [Contributions given by companies to political parties IV [ Section 80JJA

Choose the correct answer from the options given below:
I. A-IIL B-IV, C-I, D-II
2. AL B-IV, C-III, D-I
3. A1V, B-III, C-I, D-II
4. A-L, B-II, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212315902 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IIL B-IV, C-I, D-TI
2. AL B-IV, C-III, D-I
3. A-IV,B-III, C-I, D-II

4. A-L B-II, C-IV, D-III

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2

Sub-Section Id : 342123622
Question Shuffling Allowed : No

Question Id : 34212315903 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage and answer the questions given below.

The export hubs are expected to act as a center for favourable business infrastructure and
facilities for cross-border e-commerce, including facilitating faster customs clearance of cargo
and also addressing the problem of reimportation because about 25 per cent of goods in e-
commerce are reimported. Additionally, the hubs will offer warehousing facilities, processing
returns, labelling, product, testing, repackaging items and dedicated logistics infrastructure for
connecting to and leveraging the services of nearby logistics hubs, thereby achieving
agglomeration benefits for exporters.

In an attempt to leverage e-commerce platforms to support local exporters, manufacturers and
MSMEs in reaching potential international buyers, the DGFT signed a memorandum of
understanding with global e-commerce firm Amazon last year to offer capacity-building sessions,
training and workshops for MSMEs across districts identified by the DGFT as part of the
"District as Exports Hub” initiative. Amazon surpassed $8 billion in cumulative exports from
India in 2023 and aims to achieve its ambitious target of $20 billion by next vear.

India’s exports through online platforms stood at $8-10 billion in 2022-23 compared to China’s
staggering figure of more than $300 billion. A key reason for this gap is the cumbersome
compliance process associated with exports, especially when it comes to payment reconciliation,
which 1s particularly challenging for new or small exporters. At the same time, global cross-
border e-commerce trade was $800 billion. With India’s cross-border e-commerce exports likely
to Increase to $200 billion over the next six to seven years, it can become a key strategy in
achieving the S2 trillion overall exports target by 2030.

India’s services export increased by only S15.8 billion in 2023-24 over 2022-23, while
merchandise export declined $14 billion 1n the same period. Overall, India’s combined value of
exported goods and services registered a marginal increase of around $2 billion in 2023-24. At a
time when export growth remains tepid and the overall trade deficit 1s around $78 billion,
establishing a supportive e-commerce ecosystem can truly give a fillip to India’s export
performance. Given the patchwork of rules and export provisions framed for exporters, there is
an urgent for a separate e-commerce export policy, which can ease the compliance burden on
exporters.

Sub questions

Question Number : 141 Question Id : 34212315904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which enterprise has been identified to mentor the MSMEs for bosting e-commerce exports?

1. DGET
2. Walmart

3. Amazon

4. DGCA
Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212315905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

India's export through online platforms in comparison to China in 2022-23 was-
1. 9%
2. 6%
3.12%

4. 3%
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212315906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct based on export related details given in the
passage’

A. India's services export declined in 2023-24 over 2022-23

B. India's export through online platform is less than China in 2022-23

C. Amazon targets to double or more than double its exports from India in 2024-25
D. More than 20% of goods in e-commerce are reimported

E. India's merchandize exports increased in 2023-24 over 2022-23

Choose the correct answer from the options given below:

[.A,B&C Only
2.B,C & D only
3.C.,D & E Ounly

4.A,B & E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212315907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

E-commerce export hub can offer which of the following agglomeration benefits for exporters?

A. Repacking and labelling of products

B. Substantial decrease in upfront cost incurred in export

C. Interconnection of Logistics Custom clearance exemption
D. Custom clearance exemption

E. Assured export orders

Choose the correct answer from the options given below:

[.A,B&C Only
2.B,C&D Only
3.A.B&E Only

4.C.D &E Only



Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212315908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Why there is an urgent need for a separate e-commerce export policy?

A. Reimport issues are being addressed by existing export policies

B. Cross-border e-commerce has gained significantly in last few years

C. Existing export centers have favorable business infrastructure

D. E-commerce export can be managed with existing logistic hubs

E. E-commerce exports need a combination of facilities including warehousing, processing
refurns, repacking

Choose the correct answer from the options given below:
[.A& C Only
2.B,C & D Only
3.B & E Only

4.C,D & E Only

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315903 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 34212315904 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. demre
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4. I

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212315905 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2022-23 H S Wb & WHY Y YR &I (1aid 99 &1 g1 d o1
1. 9%
2. 6%
3. 12%
4.3%

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212315906 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212315907 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212315908 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123623
Question Shuffling Allowed : No

Question Id : 34212315909 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the passage and answer the question given below:

National power demand in India has hit 250 Gw, 25 per cent more than last year and 71 per cent
more than in 2022. The power ministry has rightly taken pride in ensuring that thermal power
stations have adequate stocks of coal to keep the lights, fans and air-conditioning on. This has
been a chronic problem in previous summers, leading to prolonged outages. This year, coal stocks
have reached plants well on time. As on June 23, 2024 thermal power plants had 16 days of
stocks as against 9.4 days on June 23, 2022 and 12.7 days on the same day in 2023.

The Government expects to add 15.4 Gw of coal-fired capacity in 2024-25, the highest in 9 years
and 90 Gw by 2032. A programme of “Coal Reforms 3.0” is on the agenda to increase the
availability of coal for industrial sectors, especially steel units, with the broad objective of
reducing imports to zero in the next two financial years.

India has set a target to achieve 50 per cent cumulative installed capacity from non-fossil fuel-
based energy resources by 2030 and has pledged to reduce the emission intensity of its gross
domestic product by 45 per cent by 2030, based on 2005 levels. The installed capacity of non-
fossil power in India is now 45.3 per cent of the total capacity, putting India on track to exceed its
climate-change commitments. But this is illusory progress. The absence of viable storage
technologies has limited grid offtake from renewable sources.

Encouraging industry to continue its dependence on coal is unhelpful. In this respect Coal
Reforms 3.0 appears to be at odds with a scheme announced earlier this year for a pilot project
for given hydrogen to replace coal both as a fuel and as feedstock (which is possible even in steel
produced through the blast furnace route). Given that coal-based thermal plants are responsible
for a disproportionately higher share of emission than the industrial sector, the government may
do well to power India’s economy in the immediate future.

Sub questions
Question Number : 146 Question Id : 34212315910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The availability of coal stock with power plants this year is approximately more than it
was 2 years ago.

1. 26%

]

LA
-
=

[=1

3.70%

4. 100%

Options :
1.1
2.2



3.3
4.4

Question Number : 147 Question Id : 34212315911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is true?

1. Industrial sector pollute more than coal based thermal power plants

2. The Chronic problem of coal shortage is likely to continue

3. Coal Reforms 3.0 is in synergy with green hydrogen pilot project

4. Coal Reforms 3.0 will bring down coal imports to zero in the coming two years

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212315912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following power sources have limitation of storage capacity?
A. Wind
B. Solar
C. Thermal

D. Nuclear
E. Hydral

Choose the correct answer from the options given below:

1.A, C & D Only
2.A.B & E Only
3.B.C & D Only
4. A,B.D & E Ouly

Options :
1.1



2.2
3.3
4.4

Question Number : 149 Question Id : 34212315913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Out of the total installed Power capacity, the installed capacity of fossil power is:

1.45.3%

2
L
=
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&

3.54.7%

4. 45%
Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212315914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How much (approximately) was the national power demand in 20227

1. 200 GW

[-2

175 GW
3.625GW

4. 146 GW
Options :
1.1
2.2
3.3
4.4

Question Id : 34212315909 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)



Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 34212315910 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. 70%
4. 100%

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212315911 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212315912 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212315913 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
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3.3
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Question Number : 150 Question Id : 34212315914 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
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